

# Introduction to Polynomials

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$(x^2 - 4x + 2) \cdot (3x + 1) =$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$(x^2 - 4x + 2) \cdot (3x + 1) = 3x^3$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$(x^2 - 4x + 2) \cdot (3x + 1) = 3x^3 - 12x^2$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$(x^2 - 4x + 2) \cdot (3x + 1) = 3x^3 - 12x^2 + 6x$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$(x^2 - 4x + 2) \cdot (3x + 1) = 3x^3 - 12x^2 + 6x + x^2$$



# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$(x^2 - 4x + 2) \cdot (3x + 1) = 3x^3 - 12x^2 + 6x + x^2 - 4x$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$(x^2 - 4x + 2) \cdot (3x + 1) = 3x^3 - 12x^2 + 6x + x^2 - 4x + 2$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$(x^2 - 4x + 2) \cdot (3x + 1) = 3x^3 - 12x^2 + 6x + x^2 - 4x + 2$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$\begin{aligned}(x^2 - 4x + 2) \cdot (3x + 1) &= 3x^3 - 12x^2 + 6x + x^2 - 4x + 2 \\ &= 3x^3\end{aligned}$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$\begin{aligned}(x^2 - 4x + 2) \cdot (3x + 1) &= 3x^3 - 12x^2 + 6x + x^2 - 4x + 2 \\ &= 3x^3 - 11x^2\end{aligned}$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$\begin{aligned}(x^2 - 4x + 2) \cdot (3x + 1) &= 3x^3 - 12x^2 + \mathbf{6x} + x^2 - \mathbf{4x} + 2 \\ &= 3x^3 - 11x^2 + \mathbf{2x}\end{aligned}$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$\begin{aligned}(x^2 - 4x + 2) \cdot (3x + 1) &= 3x^3 - 12x^2 + 6x + x^2 - 4x + 2 \\ &= 3x^3 - 11x^2 + 2x + 2\end{aligned}$$

# Introduction to Polynomials

► We defined a Polynomial  $P(x)$  to be a function of the form:

$$P(x) = a_n x^n + a_{n-1} x^{n-1} + \cdots + a_2 x^2 + a_1 x + a_0$$

► We saw here how to multiply polynomials.

**Example 2:**

$$\begin{aligned}(x^2 - 4x + 2) \cdot (3x + 1) &= 3x^3 - 12x^2 + 6x + x^2 - 4x + 2 \\ &= 3x^3 - 11x^2 + 2x + 2\end{aligned}$$